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Q.1 Solve the following questions (9th std) (ANY FOUR) 4
1) Ans. 60°
2)Ans. 70°

3)Ans. 2sin30° +cos0°+3sin90°=1+1+3
= 2sin 30° + cos 0° + 3sin 90° =5
4) Ans. The intersection of ray SP and ray ST is point S.
5) Ans. If a quadrilateral is parallelogram then it opposite angles are congruent.
6) Ans. Ray ST and ray SR.

Q.2 Solve the following questions (9th std) (ANY TWO) 4
1) Ans. S Given : [JPQRS is a parallelogram. Diagonals PR
M and QS intersect in point O.
5 . To prove : seg PO = seg RO,

seg SO = seg QO.

Proof : In APOS and AROQ

ZOPS = ZORQ .......... alternate angles
side PS = side RQ ......... opposite sides of parallelogram
£PSO = ZRQO .......... alternate angles

SAPOS = AROQ ....... ASA test
J.seg PO = seg RO ..............
and seg SO = seg QO ..........

2)Ans. 4 (U,A)=215; d(V,A)= 140; d(U,V)=175
d(U,V)+d(V,A) =175+ 140 =215; d(U,A) =215
.. d(UA)= d(UV)+d(V,A)
.". The city V is between the cities U and A.

corresponding sides of
} congruent triangles

p 5.3 S
3) Ans. CJPQRS is a parallelogram. .
SLQ+ £LP=180° ... interior angles are h
5 50° + ZP = 180° supplementary. g R

S ZP=180° - 50° = 130°

Now, ZP=ZR and ZQ=4LS ... opposite angles of a parallelogram.

s ZR=130° and ZS =50°

Similarly, PS = QR and PQ = SR ........ opposite sides of a parallelogram.

S QR=53 and SR=35

Q.3 Choose the correct alternative: 5
1) Ans. (d)

We know if sides of two similar triangles are in ratio a:b then area of these triangles are in ratio a%b*®
According to question, ratio of sides= 4:9

Hence ratio of areas = 42:92

=16:81

So, the correct option is (d).




2)Ans. ()
AABC and ABDE are equilateral triangles and

D 1s the mid-point of BC
"+ AABC and ABDE are both equilateral
triangles
A
E
B D C

. They are similar also

area of AABC pg(? BC2

" area of ABDE ~ Bp? (1 2]
~BC
2

* {D is mid point of BC}

. Ratiois4:1 (¢)
3)Ans. (b)
ADEF ~ AABC

AB=3cm BC=2cm, CA=25cm, EF
=4 cm

. As are similar

DE EF FD
AB BC CA

DE 4 FD

4D = _t‘: FD = 4x25
an = = e

.. Perimeter of ADEF
=6+4+5=15cm (b)
4) Ans. (c)

=5cm



Let length of pole AB=6m

and of pole CD = 11 m

and distance between their foot = 12 m
e, BD=12m

6m
6m

B 12m L

From A, draw AE || BD, then

AE=BD=12m
ED=AB=6mandCE=11-6=5m
Now in right AAEC
AC?= AE*+ CE?
= (12 ~ (5 =144 + 25 = 169 = (13)
s AC=13 e
Hence distance between their tops = 13 m
(c)
5)Ans. (b)
In AABC, AD is the bisector of ZBAC
AB=6cm, AC=5cm BD=3cm
A
6cm Scm
\
8 3Icm D X c
LetDC =x
In AABC
+ AD is the bisector of LA
AB_BD _6_3
AC DC S %
T
=Y T 27 |
s DC=25cm (b)

Solve the following questions (ANY TWO)



1) Ans. Let first triangle be A, . its base & height be b,
& hirespectively. Let second triangle be A, .
its base & heightbe b, & h. respectively.
B:=9.h,=5.b,=10 & h,=6 [Given]

A(4;)) b xh
AA,) b, xh,
[Property ofratio areas of two triangles]

_.9x5
T 10x6
. A@Q) _3
AQ) 4

ie. A(A ) A(A,)=34.

2)Ans. A(AABC) _BC
A(AADB) AD
[Triangles with common base]
A(AABC) 4
A(AADB) 8
. A(AABC) 1
" A(AADB) 2
3)Ans. In figure line / interesects the side AB and side AC of A ABC in the

: ; AP AQ :
oints P and Q respectively and — = —=, hence line / || seg BC.
p Q resp yond—o Qc || seg
A
This theorem can be proved by
indirect method. _p 0

7 X
B c

Q.5 Complete the following Activities (ANY FOUR)




1) Ans. In AABC, ray BD bisects /ABC| [Given]

....... 1 [Angle bisector property of a triangle]
In AABC. ray CE bisects ZACB [Given]

oAb
BE
....... 2 [Angle bisector property of a triangle]
segAB=seglAC| ... 3 [Given]
& =£ ...... 4 [From2 & 4]
BC
In AABC, & - [From 1 & 4]
DC BE

seg@lll side BC [Converse of BP.T]

2) Ans. LetA; and A, be two similar triangles with
their corresponding sides s; and s;

respectively.
2 fSvedi 1
s, |5
A~ A" [Given]
AAD| S :
AQ,) [s7
[Theorem onareas of similar triangles]
A <
(A ) 3 [From 1]
A(A 3]

oo A(AY) A(As)=|9 25 |



3)Ans. 9x A (APQR) A(ALMN) ....(Given)
9 _ A(ALMN)

16 A(MPQR)

. AALMN) [9]

e ————— == _..(0)

AAPQR) 16

In ALMN and APQR,
2

AQALMN) _MN- (Theorem on

A(APQR)  QR2

areas of similartriangles)

9=m\12

L16] 202

3] MN
| =|= —— ....(Taking square roots
i ( gsq )

S MN=2 x[20]

4
. MN =[15]
.". MN ={15]units

4) Ans. seg AD |iseg[BC] [Given]
= £PCB

...... 1 [Altemate angles theorem)
In AAPD & ACPB

(i) zPAD = APCB| [From 1]
(ii) ZAPD = ~CPB

‘ertically opposite angles]

~ AAPD ~ ACPB [AA test]
AP _PD]
CP PB

ar . CE [Altemando]
PD PB

. AP (PC

l_e_ — | —




5) Ans. AMNT ~AQRS]| [Given]

AN

M A N Q B R
WAy s 1 [c.ast]
In AMAT & AQBS

LM = [From 1]
/_MATE@ [Each 90°]
S AMAT ~ AQBS
M [Ta
" sQ |sB
AeT™MN) _[TM]
- A(ASQR)  sQ°
[Theorem on areas of similar triangles]
. AQATMN) _TA®
~ A(ASQR)
. A(ATMN) _ 5%
- AASQR) [97]
ATMN) _ 25
A(ASQR) [B1]
Q.6 Solve the following questions 15

Ans. ; ; A
1)Ans : Point A is common vertex of

A ABD, A ADC and A ABC

and their bases are collinear.
Hence, heights of these three i

triangles are equal
BC=15,DC=6 ... BD=BC-DC=15-6=9
A(A ABD) BD
A( A ABC) ~ BC
9
T
A(A ABD) _ BD
A(AADC) DC

[From 2]

P D C

.......... heights equal, hence areas proportional to
bases.

3
5

.......... heights equal, hence areas proportional to
bases.



2) Ans. : In A ABC point P and D are on side AC, hence B is common vertex of
A ABD, A BDC, A ABC and A APB and their sides AD, DC, AC and AP are
collinear. Heights of all the triangles are equal. Hence, areas of these triangles
are proportinal to their bases. AC = 16, DC =9

“AD=16-9=7

A(AABD) AD 7
s b O triangles having equal heights

-A(A—BDQ __QC_‘-_ e riangles having equal heights
ACARBD) AC 16 mowneas g g eq (4]
A(AABD) AD 7 : ; .
e — triangles having equal heights
A(ABDC) DC 9 g 94 9

3)ANS. Given : InA ABC line / || line BC

and line / intersects AB and

AC in point P and Q respectively
To prove : AP _ AQ
PB

QC

Construction: Draw seg PC and seg BQ

Proof : A APQ and A PQB have equal heights.
/A\STA(};S)) = :—g .......... (1) (areas proportionate to bases)
d A(A APQ) - AQ
AAPQC) QC
seg PQ is common base of A PQB and A PQC. seg PQ || seg BC,
hence A PQB and A PQC have equal heights.
A(APQB) = A(APQC) .......... (1Im)
A(A APQ) _ A(A APQ)
A(APQB)  A(A PQC)

.......... (II) (areas proportionate to bases)

4)Ans. PQ=PM + MQ [P-M-Q]
5. 25=15+MQ
. MQ=25-15=10
PR=PN+NR[P-N-R]

J.20=PN+8

. PN=20-8=12

M_15_3 )

MQ 10 2 T

PN_12_3 5

NR 8 2

InAPRQ,%=E [From 1 & 2]
MQ NR

.". Seg NM s parallel to side QR
[Converse of B.P.T]



5)Ans. Side AB |Iside CD  [Given]

. £OAB = £0CD
..... [Altemnate angles theorem]
In AAOB and ACOD

(i) LAOB = ~COD
[Vertically opposite angles]
(11) £0AB = +£0CD [From 1]
_AAOB~ACOD  [AAtest]

2 & — % [C.S.S.t]

DC OD
20 _ 15
6 OD
B 15x6
20
. OD=4.5 units




